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margin Try tousey time in proportion to the points assigned for each question
2 You must show all the work necessary to arrive at your answer. No credit will be given for numerical

answers unless your work is shown (We want to be able to follow your thought process in order to be able
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Be sure to include the correct number of significant figures and the appropriate unit when reporting your

answers
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| understand that the minimum consequence of any behavior contrary to this pledge is that | will receive a zero
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CHM 1220/1225 - Exam IV
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CHM 122071225 - Exam IV B
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6. What is the pH of a 0.35 M solution of sodium nitrite. NaNO», at 25°C? (For nitrous acid, S
HNO,, K, = 4.5x 10 at 25°C) \
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7. What is the pH of a solution that contains 0 BZSMNL{;@J 0.400 NH4C1? K, of NH;
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8. Given: 2KClOj;(s) = 2KCl(s) + 30(g)
The oxygen is collected over water at 23°C. The vapor pressure of water at 23.0°C is 21
mmHg. The molar mass of KCIO; is 112.650 g/mol.
If 1.500 g KCIO; react completely at 755 mmHg, what is the volume of the O, ajone?
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